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THE INSTITUTE OF BANKERS, BANGLADESH (IBB)

97th Banking Professional Examination, 2023
JAIBB
|Monetary and Financial System (MAFS)]

Subject Code :

Time—3 hours
Full marks—100
Pass marks—45

[N.B. The figures in the right margin indicate full marks. Answer any five questions.]

Marks
Do you think that operational independence of central bank is more important than 5
institutional independence? Give your arguments.
How central bank acts as a “Lender of Last Resort”? Discuss briefly. 4
Distinguish between ‘Macroprudential’ and “Microprudential’ regulations. 5

What are the components of CAMELS? How does CAMELS rating help to improve 2+4=6
overall performance of a bank? Discuss. .

What is money supply? Does money supply includes interbank deposits? Why? 2+2=4

What are the monetary aggregates? How narrow money- (M1) is different from broad 2+2= 4
“money (M2)? '
From the following list of items, indicate if they are in M1, M2 or neither : 1x6=6
Serial No. ; Items Amount (BDT) i
" 1. | Line of credit with your bank 50,000
2. Money in your pocket 10,000
3. Money in your checking account 20,000
4. An FDR issued from your bank : 50,000
. 5. Value of traveller’s check in you have | 1,500
6. A sanchayapatra is purchased from Bangladesh 1,00,000
bank
Calculate the amount of the time deposits when narrow money of arpun& BDT 450 3+43=6

crore is 30% of broad money as on 30 June 2023. Calculate the amount of currency
outside banks if demand deposit is almost 60% of M1 on the same date.

Does the money allow people to transfer purchasing power.from the present to the 5
future? Explain. '
Why do people have a demand for money? Which motive of demand for money is 342=5
influenced by income and which by rate of interest?

How banks do create money? If central bank sells Government Treasury Bond lhrough 3+2=5
auctions, what will be the impact of this auction on money supply?

Can crypto currency B:tcom be an alternative to cash currency? Discuss.. 5
What challenges banks are facmg in 1mplementmg electromc payments in Bangladesh? 4
Describe briefly.

What is the advantage of Real Time Gross Settlement (RTGS) over the Bangladesh "4
Electronic Fund Transfer Network (BEFTN)? Explain in brief. :

Which payment method, i.e., cash, debit/credit cards, MFS, EFT, QR, is the most 7
dom'ina{ing and which one is the fastest growing in Bangladesh? Explain briefly.

Is credit card money? Please give your arguments. ' 5
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An investors purchased a 6 months (182days) T-bill at a price of BDT 9500 which face
value is BDT 10,000. If the T-bill is HTM, calculate its yield.

What is amortized yield of the bill in part (a) if it is sold after holding for 100 days at a
price of BDT 9,800?

<If a bank purchase 100 units of 90 days commercial papers with a par value of BDT

10,000 at a price of BDT 9,850; what is the yield of this investment? What is the total
amount of profit in BDT?

“All forms of money are financial instruments but all financial instruments are not
money”. Explain. .

Marks
6

Distinguish between “fixed’ and ‘floating’ interest rate. Recently Bang!adush Bank 5+5"10

has introduced a market based interest rate, SMART rate plus maximum mark-up of
3% replacing maximum 9% interest rate on loans and advances. Give your opinion on
this policy change.

(¢) Define ‘real’ and ‘nominal’ interest rate in brief. Is real interest rate can be negative at 5
the time of stagflation? Explain with example.

(a) What are the key principles of Islamic banking? What are the conceptual differences  3-+4=7
of ‘interest” and ‘riba’? '

(b) What are the investment products of Islamic banks? Explain the key features of the  4+4=8
investment products of Islamic banks in Bangladesh.

(c) State and explain the fundamental séurccs of Shariah Law. 5
(@) What is Foreign Direct Investment (FDI)? How FDI can help to boost up the 2+6=8
economy of Bangladesh? -

(b) What are the compnants of Balance of Payment (BoP)? A country’s BoP is always 3+4=7
balanced. Discuss. ,

(c).  From the following information compute the financial account balance : 5

Items : Amount in bn BDT
Net Foreign Direct Investment 66,000
Net Portfolio Investment (40,000)
Net wage eamers remittance 50,000
Asset Funding 30,000
Errors and Omissions 10,000

(@) An important way in which a central bank decreases the money supply by selling 10
bonds to the public. Using the supply and demand analysis for bonds, show what effect
this astion has on mterest rates. )

(b) On 01 January 2023, company A issues Tk. 1000 par value with annual coupon 5
payment of Tk. 75 and bond will be matured on 31 December 2025. If after the
issuance of the-bond the yield to maturity (YTM) of bond stands 9%, calculate the
current market price of the bond. ' ' '

(c) What is the selling price of a stock if its next year dividends are expected to be Tk. 3.5 5

while the discount rate is estimated to be 9% and the dividends are projected to
increase at 5% per year indefinitely (Please use the Gordon gr'owth model)?

Please the write short notes on any five of the following topics : 5%4=20

(a)
(c)
(e)
®
(h)

Future Market and Forward Market; (b) Sukuk and Takaful;

CRR and SLR; (d) Free and Managed Float Exchange Rate System;

Repo and Reverse Repo; () HTM and HFT Securities;

Regulatory forbearance and Moral Suasion;

Financial Interrelation Ratio (FIR) and Financial Intermediation Ratio (FIMR),
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